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HERE IS A EXCEIi.LENT EXAMPLE OI:= POSITIVELY SIGMED WATTAéE (AKA3. REAL POWER)
VERSUS NEGATIVELY SIGNED VOLTS/AMPERES (AKA, REACTIVE POWER). THE

AND L2 AND L3. AND L3 HAS REACHED ITS TARGET OF AROUND _ |

0.00K
VOLTSIAMPERES TO EMPOWER AN ELECTRIC MOTOR DRIVING AN ELECTRIC CAR
150.00K| - IF ITS WINDINGS ARE BIFILAR AND CROSS-WOUND SO THAT THE FHASE OF VOLTAGE
-300.00K}--VERSA TO (HOPEFULLY’) INDUCE:; AN EMISSION OF WATTAGE
450.00K 5 66w 0250 os8u o86u 1.15u 1.44u
ANEGATIVE VOLTAGE Left TIMES APOSI-  Right TIVE AMPERAGE Delta Slope
YIELDS A NEGATIVE 242.113 VOLTS/AM- : -716.053 -1.766G
2989 152,995 377.358M
CVRIIR1) 0,000 0.000 0,000 0,000
avietyiet) 332501m 49.084K WATTS 49.084K 121.084G
vicariica) 19540K  REAL  TA873K WATTS 55.334K 136.479G
V(Cariica) 83268u POWER 12271 WATTS 12271 30267
vicariica) 83.113u 12272 WATTS 12271 30267
CIV(C5Ycs) 4302 11.917K WATTS 11.921K 29.403G
[CJv(ceyics) 4469 12.625K WATTS 12.621K 311296
(v -237.243n (604.321u) V.A. 504.083u 1.490K
(BIvL2)I(L2) 6366 CACTIVE VA -368.976K 910.068G
CVIL3)I(L3) 1.208K —EOWER VA. 76.083K 187.657G
CVCaIN3) 48529 3.000 51529 127.003M

T (Secs) 1.034u 1.43%9u 405.438n 1.000
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LCI(L3) (A) 258.945n 258.945n 0.000 INF
CIVR1)IR1T) 0.000 0.000 0.000 INF
Cv(c1yI(Cct) 0.000 0.000 0.000 INF
[Cv(c2y1(c2) 201.149f 201.149f 0.000 INF
[CIV(C3)'1(C3) 0.000 0.000 0.000 INF
[CIv(c4y1(ca) 0.000 0.000 0.000 INF
[CIv(C5)'1(C5) £.830n £.830n 0.000 INF
[CIv(ce)'I(ce) £.830n £.830n 0.000 INF
CIV(L1YIL1) 4939E-21 4939E-21 0.000 INF
CIV(L2)1(L2) 0.000 0.000 0.000 INF
CIV(L3)I(L3) -201.153¢ -201.153¢ 0.000 INF
CIV(L3N(L3) 3,000 3,000 0.000 INF

T (Secs) 1.43%9u 1.43%9u 0.000 1.000
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COMMON ALTERNATIVE SCHEMATIC SYMBOLS FOR
A SPARK GAP RESEMBLING TWO DIODES WHOSE
CATHODES APPEAR TO BE FACING EACH OTHER




image74.jpg
e/ reausiven s o |
ML < 1k MOTOR LOAD, up to 1kQ Max

MOTOR / TRANSFORMER

<<<10 mega % C.COEF: or more to RUN
20201212-2000 <<<10pH& 11 310 AWG

100 kilo % C COEF. or less to GROW>>>

34488V

MOTOR LOAD, up to 1kQ Max https://is.gd/12voltcap

RESISTANCE (NOT IMPEDANCE) OF THE MOTOR / TRANSFORMER COILS
ACTS LIKE ADDING KEROSENE TO AFIRE.... .oy ... IT ACCELERATES GROWTH! THIS
IS WHY I USE A HEAVY GAUGE WIRE, 10 AWG, TO WIND THIS VIRTUAL MOTOR / TRANS-
FORMER TO PREVENT RAPID (EXPLOSIVE) GROWTH OF POWER.

‘ — — t=316ms

226.15A

LEFT_MOTOR_COIL time step =100 ns.

MOTOR LOAD, up to 1kQ) Max.
MOTOR / TRANSFORMER

<<< 100 mega % C.COEF or more to RUN

20201212-2000 <<<T0pH& 11 &10AWG

35005V

ML < 1kQ

100 kilo % C.COEF. or less to GROW>>>

MOTOR LOAD, up to 1kQ Max https://is.gd/12voltcap

SEE NATHAN STUBBLEFIELD'S PATENT, ELECTRICAL BATTERY #600,457 - MARCH 8th 1898, FOR HINTS ON WINDING
THIS MOTOR / TRANSFORMER. ALSO, SEE TESLA'S SPECIAL GEN- ERATOR (ACCORDING TO WILLIAM LYNE IN HIS BOOK,
PENTAGON ALIENS, AND THOMAS COMMERFORD MARTIN'S BOOK, +12y WRITINGS AND INVENTIONS OF NIKOLA TESLA, CHAPTER
63 - THE LAST CHAPTER), AND EDWARD LEEDSKALNIN'S PERPETUAL MOTION HOLDER (PMH) ON YOUTURBE, ETC, FOR HINTS ON CORE
MATERIAL - EXCESSIVE CORE MATERIAL IS MAGNETICALLY COUPLED TO THE CORE OF THIS MOTOR / TRANSFORMER FROM OUT-
SIDE THE COIL'S CENTER. AND EACH COPPER COIL IS BIFILAR WOUND WITH A BARE, IRON COIL SEPARATING EACH COPPER STRAND.

t=409ms
time step =100 ns.
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This is as close as | can get to simulating Tesla's Special Generator for an EV!

http/is gd/coremass

circuit-20171101-2307 circuitjs txt

0A ov oA ov =100
inductor resistor, 720 mQ inductor resistor, 720 mQ ime step =200 s

20034A b qa42av | 20034A
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Gradually add more Henrys to the top Transformer to slow its growth towards
infinity until it has 100E Henrys equivalent to 100 Exa Henrys = 100*1e18.

hitp:/fs. gd/addinduct |

circuit20171101-2332 circuitjstxt  hitp://metricconversion.us/prefixes.htm

0A ov oA ov t=0s
inductor resistor, 720 mQ inductor resistor, 720 mQ ime step =200 s
0A v oA v
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